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1B F(X) =25 +3 =2, X ® O eeeeeeeemmmneninrrniiie ( ).
(A f(X) 5 x ZAZEMTLT /N (B) f(x) 5 x Z&RIMEAEZEM T TS /N

(C) f(x) R xmMIITTS /N (D) f(x) 2t xR TETS /.
2. wHa<x<b#, fx),g(x)IFHERXTE, H(X)g(Xx)-f(X)gi(x)>0, N4

A XKD, F5 eeeereerensnttetatiitiitietiiiiititiiiiiitittatentententntntantanianins ( ).
(A) F(x)g(a)> f(@)g(x); (B) f()g(b)> f(B)g(x);
(€) f()g(x)> f(b)g(b); (D) f()9(x) > f(a)g(a).

3. W j(x) 1E[a,b] L4k, j(x) >0 Wk y =F (x) = 0:| X —t| J (t)dt B ).

(A) 7E (a,b) WA EMh); (B) 7E (a,b) W AM(Fh);

(C) 7E(a,b) N s (D) 7 (a,b) YA TH] W 5.

4. #5 f(x,y) 7E 55 (0,0) B Min-FEAEAE, T f (X, y) FERL(0,0) oeeerrrrmneennenees ( )
(A) ELEH AT (B) ELAHA—E G
(C) TIFUEA—EELE; (D) A—E Al A — e i 4k

5. u=f(r), r=yx®+y*+z°, f(r) B _MEELSH, JH\U%"':TT?‘*% = ).

(A)f@(r)+%f¢(r); (B)f@(r)+§f¢(r); (C)rizf@(r)+%f¢(r); (D)r—lzfm(r)+§f¢(r).
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6. 00“dq00f(rcosq,rsmq)rdr— ( ).
2 e 2 e
(A) g2 dxg,  Flxy)dy; (B) g2k, f(xy)dy;
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7. VEEHZE LR D [ IE AT, T D TR weeeeerersreesmseemnnecnineennnes )
(A) %ﬁLxdy -ydx; (B) %ﬂLxdy+ ydx; (C) ﬁLxdy -ydx; (D) ﬁLxdy+ ydx.
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(A) FfRist;  (B) daxtiiesl;  (C) Kl (D) SKiEAREHE.
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1. %4 x®0,V1-2x =1+ax+bx* +o(x?) Na= b=

2. % f(X)=(x-1)(x-2) -+ (x-100), U f¢(100) =

3. (‘): X/sin® x - sin* xd x = .

4, F¥u=xy? P A 1 1) A7 S B O R

5. 1% W={(xy,2)|x*+y*+(z-1? £3,0 (jf)(j\/mdxdydz =
W

" ix?, 0£x<1,
6. ML f(X)=1 .
1 ’

) , £ [0, 2] L JETF B IE 5L AR ek K S(x) =

£x<

ix*+ax+b, x£0,

=. 1) wEs f(x)= 75 8 x =0 Al 4,

L
X Inx, x>0,
(1) KRFEHabrfE:  (2) Kk f(x) £ [-11] EEEc,d].
7. (10 43> # f(sin X)_sinx’ 3K Omf(x)dx.

RO f ZFal S, £(0) =1, 2 fix)+3f(x)+2x) ' f (tx)dt = -e™*, 3K f(x).
0,
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. (1040 kg Yy t2 =0

TX+y+z=0

o AERL (L -2,0) AEFIDIZAET- T 5 2

. (114 IR 3x® + 2xy + 3y? =1 FAT— fI(EE — RIRIEMRE 1L, Rixeey)k 5
T AL Ao 1 FIT LS P = T2 PR TR 4 S /ML
J\\ (10 43D THEHIZARS | = ﬂL(x+ y2)dx+(x-y)dy+(x+y+z)dz, Hoihz LA

BT X2 + y? =1L X + y? = -z FIAC 2R, MRS 2 2047 1A).

. (10 43 ERREL f(x) BAELS%, S iz = x2 + y*+1 (L€ z £3) B E, iH5
i I 0 [é f (g) +xy?]dydz + [é f (%) #x2y +e*] dzdx + 2(x?+y?) dxdy .
S

+. (1043 R f(x) /£[0,1] LRI, £(0)=0, £ (0,1) WA BAME 2, JFEUS /M,
B (1) B2OFEE—ANEhT0,), 43 fih)>2;
() ELFAE—AHXT0,), 15 fex)<-4.

+—. (11750 % g(x) 1E (-¥, +¥) &L SHMERSLH x B g(x+1) = g(x),ﬂ(‘):g(x)dxzo;
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